Name:

Weekly Homework Sheet (3)

Date:

Tuesday

Wednesday

Thursday

Round each number to the
nearest 10 and 100.

Round each number to the
nearest 10 and 100.

Round each number to the
nearest 10 and 100.

Round each number to the
nearest 10 and 100.

10 100 10 100 10 100 10 100
76 477 382 94
537 451 431 498
294 829 646 103
Find the sum of 1,388 and Ann has 328 cars in his toy car | Find the sum. The public library received
764. collection. For his birthday, he 1,346 books last week. This
got 86 more cars. How many 1.362 week they received 879 more
cars does he now have? ’ books. How many book did
+ 849 they receive in all?

On Monday, Robert read for 87
minutes. On Tuesday, he read
for 69 minutes. How many
more minutes did Robert read
on Monday than on Tuesday?

Find the difference between
643 and 388.

Jeffery earned $73.84 selling
newspapers. He then spent
$22.99 on a new pair of shoes.
How much money does Jeffery
have left?

Find the Difference.

805
-657

A cup of water is 8 ounces.
Doctors recommend you drink
8 cups of water each day.
How many ounces are in 8
cups?

Andrew is baking cookies. His
recipe calls for 32 ounces of
flour. If there are 8 ounces in a
cup, how many cups of flour
will Andrew need for his
recipe?

There are 12 cups of scissors.
Each cup has 4 pairs of
scissors. How many scissors
are there all together?

There are 12 stacks of
construction paper on the back
table of Mr. Garner’'s
classroom. If there is a total of
144 pieces of paper, how many
pieces are in each stack?

Find the product

4x10= 5x7=

7x3= 11x6 =
8 5 8

x4 x4 x6

Find the quotient

30+5= 48 +6 =
36+4= 24+ 8=
20+2= 49+7=

Find the product
10x8=

4x9= 1x12 =

x
[0,
x
~N W
x

2x4=

Find the quotient

70 +10 = 33+11=__
24+ 12 = 45+5=
81+9= 36+3=

Find the missing number.

Find the missing number.

Find the missing number.

Find the missing number.

7xN=21 32+N=8 8 x N= 32 108+N=9
[1x5=50 [1+7=3 [1x6=42 [1-8=4
Solve: Solve: Fill in the missing number. Fill in the missing number.
2x(1x8) (3x2)x2 6x4=(__x4)+(3x4) 9x5=(5x5)+(__x5)

Each day, Stephanie earns
$38. She spends $5 on
breakfast every day. How
much money will Stephanie
have in three days?

There are 6 cans of pencils,
with 8 pencils in each can.
Someone takes ten pencils.
How many pencils are there
now?

Jacob builds 3 towers using
12 blocks for each tower.
His little sister runs by and
takes one of the towers
away. How many blocks
does Jacob now have?

Jennifer made 28 cookies.
She ate 3 cookies, and then
split the rest evenly
between her 5 friends. How
many cookies did each
friend receive?




